MEMORANDUM

Financial Management Dept **Purchasing Division** 1112 Manatee Ave W, Ste 803

Bradenton, FL 34205



Phone: 941.749-3055 Fax: 941.749-3034

www.olga.valcich@mymanatee.

FLORIDA

Alg ~ Value

To:

All Bidders

Date:

April 28, 2011

From:

Olga Valcich, Construction Buyer

Subject:

IFB #11-0497-OV / Force Main Replacement

Lift Station #12 / Anna Maria Island

All Bidders:

Attached are the tabulation results for Bid "A" and Bid "B" for the above referenced project.

Should you have any questions or comments, please contact the undersigned.

Thank you for your continued interest in the Manatee County Bidding Process.

Olga Valcich, Construction Buyer 941-749-3055

Bid Tabulation IFB#11-0497-OV Force Main Replacement - Lift Station #12 / Anna Maria Island Bid "A" Based on a completion time of 250 Calendar Days

				Wooday	-	3	2		3			4	4
Project Control	BID "A" - 250 CALENDAR DAYS)AYS		BONITA	BONITA SPRINGS, FL	BRA	BRADENTON, FL	CROSS ENVIRONMENTAL SERVICES CRYSTAL SPRINGS FI	ENVIRONA SERVICES TAL SPRINI	MENTAL SS EI	WWW.	MENTAL D.R. SWANSON COMPANY PORT CHARLOTTE, FL GS FI	WWW.
TEM	DESCRIPTION	EST.	S.	UNIT	EXTENDED	TINU	EXTENDED	UNIT	UNIT EXTENDED	Ö,	4	UNIT	UNIT
1	urh Panlacamant	;	- 1	FAICE	TRICK	PRICE	PRIC	PRICE	PRICE		PRICE		PRICE
	Curo replacement	†	F	\$29.77	\$297.70	\$60.00	\$600.00	\$30.00		\$300.00		\$21.60	\$21.60 \$216.00
	Pavement Repair & Road Restoration (Base & Resurface)) 77	SY	\$49.62	\$3,820.74	\$81.00	\$6,237.00	\$55.00		\$4,235.00		\$49.70 \$	\$49.70 \$3,826.90
	Pavement Repair & Road Restoration (Mill & Resurface)	408	SY	\$36.60	\$14,932.80	\$23.25	\$9,486.00	\$20.40		\$8,323.20		\$36.70 \$	\$36.70 \$14,973.60
	Sodding	500	SY	\$2.97	\$1,485.00	\$3.50	\$1,750.00	\$1.80		\$900.00		\$4.30	\$4.30 \$2,150.00
5 G	Grout Fill Abandoned 8" Forcemain	40	СУ	\$134.07	\$5,362.80	\$165.00		\$280.00		\$11,200.00	\$ 3	\$324.00	\$324 00 \$12 960 00 \$3
ი <u>=</u> გ	Rehabilitate Existing Manholes (3 Total Manholes / 4' in diameter) ADDENDUM #1	21	ş	\$144.07	\$3,025.47	\$190.00		\$595.00		\$12,495.00		\$324.00	\$324.00 \$6,804.00
6a SI	Spray Liner (3 Total Manholes / 4' in diameter) - ADDENDUM #1	337	ŞF	\$22.01	\$7,417.37	\$34.50	\$11,626.50	\$57.00		\$19,209.00	\$19,209.00 \$30.00	\$30.00	\$30.00 \$10,110.00
7 R	Remove Existing Valve	-	ΕA	\$184.87	\$184.87	\$2,030.00	\$2,030.00	\$590.00		\$590.00	\$590.00 \$324.00	\$324 00	\$324.00
8	8" HDPE (C-906) Pipe	1,610	F	\$31.07	\$50,022.70	\$36.45	69	\$54.25		\$87,342.50		\$50.00 \$80	\$50.00
9 01	DI Fittings	1,080	LВ	\$2.26	\$2,440.80	\$4.40		\$2.20	-	\$2,376.00		\$3.00	\$3,00 \$3,240,00
	Pipe Adaptor	23	ΕA	\$285.70	\$6,571.10	\$199.00		\$230.00		\$5,290.00	\$	\$245.00	\$245.00 \$5,635.00 \$1
	8" Plug Valve	-	ĘĄ	\$1,915.72	\$1,915.72	\$3,950.00	\$3,950.00	\$3,475.00		\$3,475.00	69	\$1,890.00	\$1,890.00 \$1,890.00 \$2
12 Cc	Connect to Existing Manhole on N. Shore Drive/Palm Ave.	-1	ĘĄ	\$5,481.96	\$5,481.96	\$13,800.00	\$13,800.00	\$21,300.00		\$21,300.00	T	\$3,240.00	\$3,240.00 \$3,240.00
S	SUBTOTAL				\$102,959.03		\$128,083.00			\$177,035.70		\$145	\$145.869.50
13 Mc	Mobilization	-	S	\$6,990.29	\$6,990.29	\$9,780.00	\$9,780.00	\$10,500.00		\$10,500.00	\$10,500.00 \$6,726.00	\$6,726.00	\$6,726.00
14 Mi	Miscellaneous Work & Cleanup, Record Drawings	-	LS.	\$11,703.01	\$11,703.01	\$8,450.00	\$8,450.00	\$4,500.00		\$4,500.00		\$7,560.00	\$7,560.00 \$7,560.00
-	DISCRETIONARY WORK	1	LS		\$17,900.00		\$17,900.00		- }	\$17,900.00		69	\$17,900,00
1790	BID "A" - TOTAL BID PRICE				\$139,552.33		\$164,213.00			\$209,935.70	\$209,935.70	\$178	\$178
Ą	Acknowledged Addendum #1			YES -	YES - 2/23/11	YES	YES - 2/23/11	VES		VES - 2/23/11		. 2/23/11 VES 2/22/14	VEC 2/22/44
Ţ	Florida Tranch Safety Act			¥	YES		YES		. 1	YES			VEC YES
0	Contractor's Questionnaire			¥	YES		YES			YES			
D	Drug Free Work Place Certification			Y	YES		YES			YES			YES
P	Public Contracting & Environmental Crimes			γ	YES		YES			YES			VES
A _i	Affidavit for Local Business				NO		YES		-	NO			
<u> </u>	Notes:			>	N/A		N/A			N/A			N/A
Bı	Bid Bond			Y	YES		YES		_	YES			
	Acknowledged Site Visit			~	YES	YES -	- 2/18/11						NO YES

Bid Tabulation IFB#11-0497-OV Force Main Replacement - Lift Station #12 / Anna Maria Island Bid "A" Based on a completion time of 250 Calendar Days

A CORPORATION OF A CORP		L	1000	6	100	7	The Lates	8	S. S. S. S.	9		6
BID "A" - 250 CALENDAR DAYS	AYS		HARRIS CO TAI	HARRIS-MCBURNEY COMPANY TAMPA, FL	CONST	KUXHAUSEN CONSTRUCTION, INC. SARASOTA FI	SPECTRUM	SPECTRUM UNDERGROUND SARASOTA, FL	WESTRA	WESTRA CONSTRUCTION CORP.	NO	NO BIDDER
ITEM DESCRIPTION	EST.	C.	TINU	EXTENDED	TINU	EXTENDED	TINU	EXTENDED	UNIT	EXTENDED	TINU	EXTENDED
1 Curb Replacement	10	5	\$32.00	OU OCES	1	PAG.	3	PRI	9	PRICE	PRIC	PRICE
2 Pavement Repair & Road Restoration (Rase & Resurface)	1 2	2 5	00.20e	\$320.00	T		Γ	\$455.00	\$28.00	\$280.00	N/A	
	17	SY	\$47.15	\$3,630.55		\$5,005.00	\$69.00	\$5,313.00	\$61.85	\$4,762.45	N/A	
	408	SY	\$34.75	\$14,178.00	\$32.00	\$13,056.00	\$30.25	\$12,342.00	\$32.30	\$13,178.40	N/A	
L	500	YS	\$7.20	\$3,600.00	\$3.00		\$2.25		\$1.95	\$975.00	N/A	
5 Grout Fill Abandoned 8" Forcemain	40	CY	\$178.00	\$7,120,00	69		\$302 50		660.00	22 400 00		
Rehabilitate Existing Manholes (3 Total Manholes / 4' in diameter) ADDENDUM #1	21	듞	\$461.00	\$9,681.00			\$100.00		\$272.00	\$5,712.00	N/A	
6a Spray Liner (3 Total Manholes / 4' in diameter) -	337	SE SE	\$12.30	\$4,145,10	\$15.00	\$5,055.00	\$28.75		\$21.75	\$7 329 75	NIA	
7 Remove Existing Valve	-	E	\$37.00	\$37.00	\$500.00	\$500.00	\$300.00	I	***************************************			
8 8" HDPE (C-906) Pipe	1,610	F	\$40.00	\$64 400 00	\$45.00	5	00.200	I	9195,00	\$195.00	N/A	
9 DI Fittings	1,080	8	\$1.20	\$1,296,00	\$ 60	\$6 480 00	400.00		00.106	349,910,00	N/A	
10 Pipe Adaptor	23	EA	\$560.00	\$12 880 00	\$170.00		6777 60		34.15	\$4,482.00	N/A	
11 8" Plug Valve	+	Ā	\$2,000.00	\$2,000,00	\$2 500 00	\$2,500,00	42 306 00	\$3,070,00	9100.00	\$4,255.00	NA	
12 Connect to Existing Manhole on N. Shore Drive / Palm Ave	-	Ē	\$1,818.00	\$1,818.00	\$5,000.00		\$4 508 00	54 508 00 50 500 00	\$6.000.00	91,302.00	N	
SUBTOTAL	W.H.			\$125,105.65	Section 2	\$126.116.00	Section 1985	\$116 573 25	40,002.00	40,05,00	NA	
13 Mobilization	-	LS :	\$11,255.00	\$11,255.00	\$14,000.00	\$14,000,00	\$11.532.00	\$11 532 00	\$16.750.00	410,000,00		
14 Miscellaneous Work & Cleanup, Record Drawings	-	S	\$48,061.00	\$48,061.00	\$10,500.00	\$10,500.00	\$4,560.00	\$4 560 00	\$68 750 00	00.000,000	200	
DISCRETIONARY WORK		S		\$17,900.00		\$17,900.00		\$17 900 00	State of the state	\$17 000 00	1	
BID "A" - TOTAL BID PRICE	H	H		\$202,321.65		\$168,516.00		\$150,565.25		\$204,953.60		
Acknowledged Addendum #1		4	YES -	YES - 2/23/11	YES	YES - 2/23/11	YES	YES - 2/23/11	YES	YES - 2/27/11		1
Florida Tranch Safety Act	1		Y	YES		YES		YES		YES	2 2	2/4
Contractor's Questionnaire			Y	YES		YES		YES		VEC		3
Drug Free Work Place Certification			Y	YES		YES		YES		VEC	2	NA
Public Contracting & Environmental Crimes			×	YES		YES		YES		VEC	N/A	2
Affidavit for Local Business			×	YES		YES		YES		NO	N/A	2
Notes:			2	N/A		N/A		N/A	>	N/A	N/A	A .
Bid Bond	10000	8	*	YES		YES		YES	×	YES	N/A	A .
Acknowledged Site Visit	5/4	L	YES -	YES - 2/14/11	YES	YES - 1/25/11	YES - 2/18	YES - 2/18, 2/21 & 2/23	YES .	YES - 2/3/11	N/A	4

Bid Tabulation IFB#11-0497-OV Force Main Replacement - Lift Station #12 / Anna Maria Island

Bid "A" Based on a Completion Time of 250 Calendar Days

(Purchasing) APPROVED BY: (Project Manager) REVIEWED BY: REVIEWED (Engineer) PREPARED BY: Olga Valcich, Construction Buyer Salvatore Bordonar, Jr., Project Wanager Shea Shoun, P.E., Project Engineer Shanne Robumson Sherri Robinson, Assessment Coordinator Date

Bid Tabulation IFB#11-0497-OV Force Main Replacement - Lift Station #12 / Anna Maria Island Bid "B" Based on a completion time of 200 Calendar Days

		L	Maduny	1		2		3		•		cs
BID "B" - 200 CALENDAR DAYS	AYS		BONITA	BONITA SPRINGS, FL	BRA	BRADENTON, FL	CROSS E	CROSS ENVIRONMENTAL SERVICES CRYSTAL SPRINGS, FL	PORT CH	D.R. SWANSON COMPANY PORT CHARLOTTE, FL	CARL HANKINS, INC. TAMPA, FL	TAMPA, FL
ITEM DESCRIPTION	QTY.	U/M	PRICE	PRICE	DRICE	EXTENDED	TINU	EXTENDED	UNIT	EXTENDED	UNIT	
1 Curb Replacement	10	5	\$29.77	\$297.70	\$60.00	2000 00	PRICE	PHO	PRICE	PRICE	2	Г
2 Pavement Repair & Road Restoration (Base & Resurface)	777	SY	\$49.62	\$3,820,74	881 00		900.00		\$21,60	\$216.00	Γ	Г
3 Pavement Repair & Road Restoration (Mill & Resurface)	408	YS	636.60	644 020 00	901.00		300.00		\$49.70	\$3,826.90	\$75.00	
4 Sodding	500	2	00.000	914,932.80	\$23.25		\$21.00	\$8,568.00	\$36.70	\$14,973.60	\$29.00	
	500	SY	\$2.97	\$1,485.00	\$3 50	\$1,750.00	\$2.00	\$1,000.00	\$4.30	\$2,150.00	\$6.50	1
	40	CY	\$134.07	\$5,362.80	\$165.00	\$6,600.00	\$290.00	\$11,600.00	\$324.00	\$12,960.00	\$215.00	T
Rehabilitate Existing Manholes (3 Total Manholes / 4' in diameter) ADDENDUM #1	21	¥	\$144.07	\$3,025.47	\$190.00		\$600.00		\$324.00	\$6,804.00	\$215.00	
6a Spray Liner (3 Total Manholes / 4' in diameter) - ADDENDUM #1	337	SF	\$22.01	\$7,417.37	\$34.50	\$11,626.50	\$59.00	\$19.883.00	\$30.00	\$10 110 00	215.00	
7 Remove Existing Valve	-	E	\$184.87	\$184.87	80 030 00	\$2,020,00	***************************************			4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	410.00	
8 8" HDPE (C-906) Pipe	1.610	F .	\$31.07	\$50.000	24 363		900.00	\$600.00	\$324.00	\$324.00	\$750.00	
9 DI Fittings	1 080	B	20.00	62 440 80	900.40		900.00	\$88,550.00	\$49.00	\$78,890,00	\$65.00	
10 Pipe Adaptor	2 100	E E	07.76	92,440.00	34.40	\$4,752.00	\$2.40	\$2,592.00	\$3.00	\$3,240.00	\$5.25	
	. 63	3	07.0076	\$6,5/1.10	\$199.00	\$4,577.00	\$240.00	\$5,520.00	\$245.00	\$5,635,00	\$138.00	
\perp	-	2	\$1,915.72	\$1,915.72	\$3,950.00	\$3,950.00	\$3,500.00	\$3,500.00	\$1,890.00	\$1,890.00	\$2,975.00	
1	-	E	\$5,481.96	\$5,481.96	\$13,800.00	\$13,800.00	\$22,300.00	\$22,300.00	\$3,240.00	\$3.240.00	\$2 500 00	
	95.5	1	1000	\$102,959.03		\$128,083.00	7000000	\$181,375.00	No. of the	\$144.259.50	4000000	\$159 046 00
13 Mobilization	-	rs.	\$6,990.29	\$6,990.29	\$9,780.00	\$9,780.00	\$11,350.00	\$11 350 00	00 E03 23	66 603 00	500.00	4
14 Miscellaneous Work & Cleanup, Record Drawings	-	S	\$11,703.01	\$11,703.01	\$8,450.00	\$8,450.00	\$5 000 00	\$5,000,00	\$7 560 00	90,090,00	\$11,500.00	
DISCRETIONARY WORK	-	LS		\$17,900,00	No. of the last	\$17,900,00		\$17,000,00	41,000.00	97,000,00	91,500.00	1
BID "B" - TOTAL BID PRICE				\$139,552.33		\$164,213.00		\$215,625.00		\$175,312.50		\$189 946 00
Acknowledged Addendum #1	1		YES.	YES - 2/73/11	VEC	Pricele						
Florida Tranch Safety Act				no i	100	1100.000	TES	TES - 2/23/11	YES -	YES - 2/23/11	YES - 2/23/11	. 2/2
Contractor's Questionnaire	NOW K	-		VEC		YES		YES	*	YES		YES
Drug Free Work Place Certification						TES		YES	4	YES	_	YES
Public Contraction & Equipment	1000	-	7	YES		YES		YES	4	YES	_	YES
Area Connecting & Environmental Crimes			*	YES		YES		YES	4	YES		ŏ.
Alliabelt for Local Business		L	>	NO		YES		NO		NO		NO.
Notes:		-	N/A	À		N/A		N/A	>	N/A		N/A
Bid Bond	50		×	YES		YES		YES		NO		YEO
Acknowledged Site Visit		L	×	YES	YES .	YES - 2/18/11	YES -	YES - 2/18/11	YES.	VES . 2/24/11	VEC SHOW	3/40

Page 4 of 6

Bid Tabulation IFB#11-0497-OV Force Main Replacement - Lift Station #12 / Anna Maria Island Bid "B" Based on a completion time of 200 Calendar Days

													L	13 Mobilization	SUBTOTAL	12 Connect	11 8" Plug Valve	10 Pipe Adaptor	9 Di Fittings	8 8" HDPE		6a Spray Liner (3)	6 Rehabii	5 Grout Fi	4 Sodding	3 Paveme	2 Paveme	1 Curb Re	TEM.	BID	-
Notes: Bid Bond	and south south south	TO LOOK DESCRIPTIONS	Tor Local Husiness	for local Business	Public Contracting & Environmental Crimes	Drug Free Work Place Certification	Contractor's Questionnaire	Florida Tranch Safety Act	Acknowledged Addendum #1		"B" - TOTAL BID PRICE	DISCRETIONARY WORK	Miscellaneous Work & Cleanup, Record Drawings	ion	OTAL	Connect to Existing Manhole on N. Shore Drive / Palm Ave	/aive	aptor	34	8" HDPE (C-906) Pipe	Remove Existing Valve	Spray Liner (3 Total Manholes / 4" in diameter) - ADDENDUM #1	Rehabilitate Existing Manholes (3 Total Manholes / 4' in diameter) ADDENDUM #1	Grout Fill Abandoned 8" Forcemain		Pavement Repair & Road Restoration (Mill & Resurface)	Pavement Repair & Road Restoration (Base & Resurface)	Curb Replacement	DESCRIPTION	BID "B" - 200 CALENDAR DAYS	
												-	-1	-			-	23	1,080	1,610	-	337	21	40	500	408	77	10	QTY.	AYS	
7.8			100				8		80	-		LS	LS S	LS		EA	EA	EA	Е	5	EA.	SF	ş	CY	SY	SY	SY	F	G.		L
YES - 2/14/11	Υ	>	4			4	,	,	YES -				\$48,061.00	\$11,255.00		\$1,818.00	\$2,000.00	\$560.00	\$1.20	\$40.00	\$37.00	\$12.30	\$461.00	\$178.00	\$7.20	\$34.75	\$47.15	\$32,00	PRICE	HARRIS CO TAI	3674
2444	YES	N/A	YES		YES	YES	YES	YES	YES - 2/23/11	4200	\$202 321 65	\$17,900.00	\$48,061.00	\$11,255.00	\$125,105.65	\$1,818.00	\$2,000.00	\$12,880.00	\$1,296.00	\$64,400.00	\$37.00	\$4,145.10	\$9,681.00	\$7,120.00	\$3,600.00	\$14,178.00	\$3,630.55	\$320.00	PRICE	HARRIS-MCBURNEY COMPANY TAMPA, FL	6
YE									YES				\$10,500.00	\$14,000.00	100000	\$5,000.00	\$2,500.00	\$170.00	\$6.00	\$45.00	\$500.00	\$15.00	\$160.00	\$175.00	\$3.00	\$32.00	\$65.00		PRICE	CONST	
VES - 1/25/11	YES	N/A	YES	750	YES	YES	YES	YES	YES - 2/23/11	4.00,0,000	\$168 516 00	\$17,900.00	\$10,500.00	\$14,000.00	\$126,116.00	\$5,000.00	\$2,500.00	\$3,910.00	\$6,480.00	\$72,450.00	\$500.00	\$5,055,00	\$3,360.00	\$7,000.00	\$1,500.00	\$13,056.00	\$5,005.00		PRICE	KUXHAUSEN CONSTRUCTION, INC. SARASOTA, FL	7
YES - 2/1	YES		YES						YES				\$4,560.00	\$11,532.00		\$4,508.00	\$2,396.00	\$233.50	\$4.85	\$34.50	\$392.00	\$28.75	\$100.00	\$302.50	\$2.25	\$30.25	\$69.00		PRICE	SPECTRUM	
YES - 2/18 2/21 & 2/23		N/A		163	VEC	YES	YES	YES	YES - 2/23/11	\$100,000.20	6450 565 35	\$17,900.00	\$4,560.00	\$11,532.00	\$116,573.25	\$4,508.00	\$2,396.00	\$5,370.50		\$55,545.00	\$392.00	\$9,688.75		\$12,100.00	\$1,125.00	\$12,342.00	s		PRICE	SPECTRUM UNDERGROUND SARASOTA, FL	8
YES - 2/3/11									YES				\$68,750.00	\$16,750.00	And the second	\$6,092.00	\$1,982.00	\$185.00	\$4.15	\$31.00	\$195.00	\$21.75	\$272.00	\$60.00	\$1.95	\$32.30	\$61.85	\$28.00	PRICE	WESTRA	A 100 A
2004	YES	N/A	NO	YES	VEC	YES	YES	YES	YES - 2/23/11	\$204,555.50	* 050 00	\$17,900,00	\$68,750.00	\$16,750.00	\$101,553.60	\$6,092.00	\$1,982.00	\$4,255.00	\$4,482.00	\$49,910.00	\$195.00	\$7,329.75	\$5,712.00	57	\$975.00	s	s		PRICE	WESTRA CONSTRUCTION CORP. PALMETTO, FL	9
	>	_		-									N/A	N/A	September 1	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	NA	N/A			\neg	PRICE	N	
N/A	N/A	N/A	N/A	N/A		N/A	N/A	N/A	N/A	NA		NA	N/A	NA	N/A	N/A	NA	N/A	N/A	N/A	N/A	N/A							PRICE	NO BIDDER	10

Page 5 of 6

APPROVED BY: (Purchasing)

Olga Valcich, Construction Buyer

Bid Tabulation IFB#11-0497-0V

Force Main Replacement - Lift Station #12 / Anna Maria Island

Based on a Completion Time of 200 Calendar Days

(Project Manager) REVIEWED BY: REVIEWED (Engineer) PREPARED BY: Salvatore Bordonar, Jr., Projekt Mañager Shea Shoun, P.E., Project Engineer Sherri Robinson, Assessment Coordinator Date